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EXKRCISKS IN ALGKHRA.

zab-^ X
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9- \/ifz)+\/ity^+\/{TI^y)

• V Vb2/"^V \2o8xy2/+\/ V38a^b3 /

ADDITION.

EXERCISE IV.

Find the sum of :
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2a + 3b+ 4c
; 5a + 6b + 7c ; Sa + gb+ioc.

i2x+[iy+ioz; 9x + 8y + 7z; 2x4-5y+3z.
a + 3b-4c; -3a + 3b + 3c ; 2a-3b + c.

4a + 3b-2c;-a+ 3b + 2c; 2a-b + 3c.

-4x + 3y + 2z ; x-2y-rz ; x+ y-3z. ,

-x + y+ 4z
; 3x-2y + 2z; 2x-3y-z.

-2a + 3b-8c; a-b + c
; 4a+ 3b-5c.

- I4a-i8b+i9c
; I3a+i5b + 8c ; a + 6b4-8c.

26a-i6b-3c; i3a-iob + 4c :a + i9b-3c.
- 17a- iib4-6c ; ioa + 6b + 7c ; 6a-|-5b \.,-.


